TEFEER B=M
FE ZARBHEH

LAIZEALRFH)

sin(a + B) = sinacosp + sinfcosa
sin(a — B) = sinacosf — sinfcosa
cos(a + B) = cosacosf — sinasinf
cos(a — B) = cosacosf + sinasinf

__ tana+tanf

tan(a T B) - 1-tanatanf

tana—tanf

tan(a —B) =——

l+tanatanf
2.CEARK)
sin2a = 2sinacosa
cos2a = cos’a — sin’a = 2cos’a — 1
=1 — 2sin’a

2tana

tan2a ==
1-tan?a

3 (TESREHE) R: 2= A MRS
(1) a:b: ¢ = sinA:sinB: sinC

Q) =2 =_"S=7R
SinA sinB sinC
4.(BR5%ZEHR)
(1) a? + b? — c¢?=2ab X cosC
a?+b%—c?
(2)cosC = o

SAEREAR) #s = x(AHE)
(1) EXIRIEE a - b &—JEf08s
Affifi= -abx sin®

QER=#BfFa b~ ciEF-
AEFE= \/s(s —a)(s—b)(s—c¢)
6.(FAE B/ M)
(1) y=f(x) =axsinx+ b X cosx -

y B AME Va? + b? ~ f/ME—Va? + b?

@ y=fx)=asinx+b > H —-1<sinx<1

Fsink =1~ — 1A > #]{5 y IEcRa/ME
REE:
1.(Dsin(a + B) =

2sin(a —B) =

(3)cos(a +B) =

(4cos(a—B) =

(S)tan(a + B) =

(O)tan(a — B) =

(Dsin(26) =

(8)cos(260) =

O)tan(26) =

(10)asinx + bcosx HYE ANIE By

BUMEE
2a~ B HEESA Htana=2 > tanf=3 K
tan(a+ B)V{E - -1

3.5% f(0) =4sinf—3cos@+5 > K (O RIE
S/ IME. e B AME 10 0 fIME O

BC=8 * 3K/\ABC iy

Vo
Z6

4.5% /\ABC f » sinA:% ,
INEEEIER o

6. FIAABC H »a=3>b=5>¢c=7"

3K cosC o E=

1 —



B W
1L(IESR) EHEX? = —10—f#
ATl i2=—-1-
2.(iMEE) )2 = -1 %=
3. (HREHIHEE)
a+bi=c+di <=>a=cHb=d -
4. (FRBGEEHMEBEILITRE) ®Hz=2-3i"
(1) zHyHHiEEzZ =2+ 3i
(2) zHEEEHEz] = V(2)2 + (—3)% ;
(3) zZHVAEEHEIZ] = V(2)2+ (3) -
AL - |z] = |z] -
5. ((REEEHEME)

—i~i*=1-

Z2

_ |Z1]
pr— o
Z1 |Z2]

|21 X z3| = |z1] X |z,] >

6.({ERME=) r X (cosB + i X sinB)
B 1: %z =1+ 3i {LEHES

F—r =z =\/(1)2+(\/§)2 =Vi=2-

cosf = %
Foab 4 EHES0 = 60° - AL
sinf = Y

1 + /31 A By 2(cos60° + isin60°)
B 2:7 = V3i — YEBEfm -

Bt =lol = [0+ (=2

V3
e cosf = —
%_*ﬁ:{ 2
sinf = —
2
R0 0 FEBPUZRIR -~ x| > |yl (RN
45°) > FMEAE6 = 360° — 30° = 330° -
PRIFEV3i — 1 IR B 2(cos330° + isin330°)
7.(REEFHEH) [2(cos30° + i x sin30°)]8
= 28(c0s30° X 8 + i X sin30° X 8)
8.(1HE n KR fi# x* = -8+ 8V3i
Br—8 + 8\/§i{b%$@£ﬁ16(€05120° + isin120°)
= r*(cos40 + isin40) > A[Hr=2- 0 =30°
R > B—(ff#x, = 2(cos30° + isin30°)

FH(cosH, sinB) = (+, —)

8 4 (B9 57EIE > 360° + 4 = 90° » #Y
x1 = 2(cos(30° + 90°) + isin(30° + 90°))
X, = 2(cos(30° + 180°) + isin(30° + 180°))
x3 = 2(cos(30° + 270°) + isin(30° + 270°))

9.(x° = 1ERw)
(Hhw? =1 Dl+w+w?=0

TR

1#@-2)+2i=3+ B -b)i-Ef a b HEH
Ka-bZ{H - %a=5-b=1

2R YIS R R AR

Wz=1+2i (Qn=2-i (3)=3
(4)z4 =—5i 2511 - 2i5(2)2 + 1;(3)3;(4)5i

33 21=3-2i>2=1+3i>

K:iQu+z

25 (1)4 + i5(2)2 - 5i
(2)21 -2

435 71=3-2i>2=1+3i"Kz1x20°

Z9+7i

55 71=3-2i > 2,=1+3i» K2 -

Z,




6. K M2 (H
(DV2xy-3  (QV-2xv3  (3)v-2x+-3

%:(1) /61 3(2) /6i (3) /6
TR TS E -
(1)i%®
(2)i7°

(3)i210

(4)i59
Z(DL5EC) - L@ —i
8.HIBIHAET X* — 2x + 3 = 0 WifRAYIEE - Alifi
Z o B BRI x=1£4/2i

9. 5K YIS EEIIAEEME  2:(1)5,;(2) V13 5(3)2
W z2=1+2 (2)=3-2i @)m=-2i

10K FHISZME 20542 (V2 5(3)25

OIG+4)A-D @IT5 @2+

LR FFI& | : 5:(1) i;(2>§+§i

(1)(cos18° + isin18°)°

2) (cos8° +isin8°)° (cos 25° + isin 25°)*

(cos11°+isin11°)®



F=E RN ILER
1. F58uE:

(1) 23 x2%= o 23224 =

Q"= o

3

M)HE@x3) =

(3)(2%)* =
(4) 27'= _

(5)3% = o 23=
(6)2% > 2V & ;
Q>Qre
2. BB log,bHEE <
(1)23 =8 <=>log,8=
(2)2!992° = >log;2’=
(3)l0g102 + log,o3 = ’
logi02 —log,¢3 =

(4) log,e3? = (5)(#

JEATD) log,3 =

HY c=1 A5 log,3 x log;2 =1

(6)log,a > log,b & J

logia > log:b &
2 2

3. HREH

(DEBH R - BEHO0~1 Z[H

Q0 A ST 1~10 Z [ - AillogAS Tt 0~1 Z

(3)1og12345 =10g1234.5 + 1 = log123.45 + 2
= log12.345 + 3 = log1.2345 + 4

LLEVIE MRS BB EE FME?

= .

(1Y (1) 2
I - 4 _" AR
1.1bﬁaﬁ(27) x[g) x814 =1 %3

245a=2%>b=2">c=2" > Hla - b~ c ZA/N
JIEF? Ey? Zra<c<b

3.l0gs4 — 10gs10 — logs50 =? %3

4,>Klog,8="7 ’“ég

5.dog2=a - log3=b - Hlogl8 =7 %&:a+2b

6-§§azlog;4’b:lOgES’C:k)ng,E\[Ja\b .
C HY R/ INERFF?

Za>h>c

7.5% logx = — 4.6819 > Hij(1)logx 7 &8 =2
(2)logx 2 FE#y =7 #:(1)-5 (2)0.3181

8. log7=0.8451 » HI 7% By fir 2 1



